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Discover the title
of this picture

In the expressions below expand the
brackets, and where possible, simplify
to find the puzzle answer code.
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=8(M0b+R2) -2 -6

=85(a—R)—Ra+ 13

o

=7(3 + 2c) — 12

| oo

=2(a + 2b) + 3(a — b)

r

=7(a—R2)

frate

=6(Ra + 7) — 35

= 3(b + 4) + 2(2b — 9)

3

3(3b — 2) + 2(b + 5)

t

=8c+R(6 —3c) -7

-
I

10c + 5 + 3(2¢ — R)

W

= 8(c + 3) + 3(4 + 2¢)

&c +5 | Ba+Db | Qb + 10

Ba — 12

16c — 1

l4c + 9 | R0c + 36 | 3b + 4

7b — 6(3b + 4|14c + 9

7a — 14

11b + 4

{b + 10

16c — 1|12a + 7|3b + 4|3a + 3
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